






Eight persons A, B, C, D, E, F, G and H are going for a holiday in four different months i.e. 

January, March, April and May at two different dates i.e. 11th and 22nd. All information is not 

necessarily in same order.

D goes in the month which has even number of days. Two persons go between D and F. E goes just 

after H but not in the same month. C goes after B. A goes before G. Not more than one person goes 

between C and A. C does not goes in the month which has even number of days. G does not go in 

March. Not more than one person goes between A and G.

आठ व्यक्ति A, B, C, D, E, F, G और H चार क्तिक्तिन्न महीनों में अर्ाात ्जनिरी, माचा, अप्रैल और मई की दो क्तिक्तिन्न 

तारीखों अर्ाात ्11 और 22 को छुट्टी के क्तलए जाते हैं। सिी जानकारी समान क्रम में हों यह आिश्यक नहीं ह।ै D उस महीने 

में जाता ह,ै क्तजसमें क्तदनों की संख्या सम संख्या में ह।ै D और F के मध्य दो व्यक्ति जाते हैं। E, H के ठीक बाद जाता ह ैलेक्तकन 

समान महीने में नहीं जाता ह।ै C, B के बाद जाता ह।ै A, G से पहले जाता ह।ै C और A के मध्य एक से अक्तिक व्यक्ति नहीं 

जाते हैं। C उस महीने में नहीं जाता ह ैक्तजसमें क्तदनों की संख्या सम संख्या में ह।ै G माचा में नहीं जाता ह।ै A और G के मध्य

एक से अक्तिक व्यक्ति नहीं जाते हैं।



Eight persons A, B, C, D, E, F, G and H 

are going for a holiday in four different 

months i.e. January, March, April and 

May at two different dates i.e. 11th and 

22nd. All information is not necessarily in 

same order.

D goes in the month which has even 

number of days. Two persons go between 

D and F. E goes just after H but not in the 

same month. C goes after B. A goes 

before G. Not more than one person goes 

between C and A. C does not goes in the 

month which has even number of days. G 

does not go in March. Not more than one 

person goes between A and G.



Following questions are based on the five three-digit numbers given below:

473, 169, 825, 692, 538
If all the digits in each of the numbers is arranged in descending order within the 

number, which of the following will form the lowest number in the new 

arrangement of numbers?

यदि संख्याओ ंके भीतर प्रत्येक संख्या में सभी अंकों को अवरोही क्रम में व्यवदथित दकया गया है, 

तो दिम्ि में से कौि सी संख्याओ ंकी िई व्यवथिा में दिम्ितम संख्या होगी?

(1) 473

(2) 169

(3) 825

(4) 692

(5) 538



Directions: Following questions are based on the five three-digit numbers given below:

473, 169, 825, 692, 538
If all the numbers are arranged in ascending order from left to right, which of the following 

will be the product of the second and the third digits of the number which is second from the 

left end of the new arrangement?

यदि सभी संख्याओ ंको बाए ंसे िाए ंओर आरोही क्रम में व्यवदथित दकया गया है, तो दिम्ि में से कौि सा िूसरा 

अंक और तीसरे अंक का गुणिफल होगा जो संख्या िई व्यवथिा के बाए ंदसरे से िूसरे थिाि रर है?

(1) 18

(2) 54

(3) 24

(4) 21

(5) 10



In the given word ‘MOTIVATION’ if the vowels are changed to the next 

letters and the consonants are changed to the previous letters as per the 

alphabetical series, then which letter/letters are repeated more than once? 

क्तदए गए शब्द 'MOTIVATION' में यक्तद िर्ाक्रम के अनसुार स्िरों को अगले अक्षरों में बदल 

क्तदया जाता ह ैऔर व्यंजन को क्तपछले अक्षरों में बदल क्तदया जाता ह,ै तो कौन से अक्षर/अक्षरों को

एक से अक्तिक बार दोहराया जाता ह?ै

1.Two 2.Three 3.Four 4.None 5.one



If 2 is added to each even digit and 1 is subtracted from each odd digit 

in the number 945217, then what will be the sum of number/numbers 

not repeated in the new number?

यक्तद संख्या 945217 में प्रत्येक सम अकं में 2 जोडा जाता ह ैऔर प्रत्येक क्तिषम अकं से

1 घटाया जाता ह,ै तो नई संख्या में दोहराई जाने िाली संख्या/संख्याओ ंका योग क्या

होगा?

1.8 2.4 3.5 4.7 5.6



How many pair of letters are there in the word “EFFECTIVE” 

which has as many letters (in both forward and backward 

direction) in between as they have in English alphabet series?

शब्द “EFFECTIVE” में अक्षरों के ऐस ेक्तकतने यगु्म हैं क्तजनके बीच में उतने ही

अक्षर हैं (आगे और पीछे दोनों क्तदशाओ ंमें) क्तजतने उनके बीच अगं्रजेी िर्ामाला 

श्रखंला में हैं?

1.Two 2.Three 3.Four 4.None of these 5.One



Statement: 

P ≤ Q < S = T ≥ U ≥W < Z

Conclusion:

I. S > W

II.W = T



Statements: 

H > G < C, E ≥ K < D ≤ B, E = C

Conclusions:

I.G ≤ D

II. G>D



Statements: 

H ≤ X ≤ R = O > T; M = F ≥ R > D 

Conclusions:

I. H ≥ Y

II. Y > H



Statements: 

T ≥M = K < B = G < P ≥ V > L; X > Z > T

Conclusions

I. X > P

II. P ≥ T



Statements: 

P < Q ≥ G; G ≥ I ≥ E; C ≤ P; C > U

Conclusions:

I. U > I

II. P ≤ E



In a Certain code JOKE is written as 7263 ,than find the code for 

HERO ?

एक दिदित कोड में JOKE का कोड 7263 दलखा गया है तो HERO का कोड क्या

होगा ?

(1) 9382

(2) 1823

(3) 3649

(4) 1814

(5) None of these



In a Certain code MAN is written as 334 ,than find the code for BAG ?

एक दिदित कोड में MAN का कोड 334 दलखा गया है तो BAG का कोड क्या होगा

?

(1) 196

(2) 823

(3) 232

(4) 181

(5) None of these



‘value theme particle around’ is written as ‘tfk dm un ssd’ 

‘song new theme sing’ is written as ‘dj xy tfk src’ 

‘sing loud particle mix’ is written as ‘ssd bt src hnm’ 

‘around theme mix song’ is written as ‘xy un tfk bt’ 

In the coded language, ______ is coded as ‘hnm’. 

कूट िाषा में ______ को 'hnm' के रूप में कूटबद्ध क्तकया जाता ह।ै

1. theme 2. particle 3. around 4. loud 5. value



Statements:

Some A are B.

All B are C.

Only a few D are C.

Conclusions:

I. Some D are not A.

II. Some D are not B.

कर्न:

कुछ A, B हैं। 

सिी B, C हैं। 

केिल कुछ D, C हैं। 

क्तनष्कषा: 

कुछ D, A नहीं हैं।

कुछ D, B नहीं हैं।



Statements:

Some A are B.

All B are C.

Only a few D are C.

Conclusions:

I. Some D are not A.

II. Some D are not B.



Statements:

Some Sparrow are Parrot.

Only a few Parrot are Camel.

All Camel are Goats.

Conclusions:

I. All Sparrow are Parrot.

II. Some Parrot are not Camel.

कर्न: 

कुछ स्परैो परैट हैं. 

केिल कुछ तोत ेऊंट हैं। 

सिी ऊंट बकररया ंहैं। 

क्तनष्कषा: 

सिी स्परैो परैट हैं. 

कुछ परेैट कैमल नहीं हैं।



Statements:

Some Sparrow are Parrot.

Only a few Parrot are Camel.

All Camel are Goats.

Conclusions:

I. All Sparrow are Parrot.

II. Some Parrot are not Camel.



Statements:

Only a few Bus is Car.

Some Car is Train.

Some Train is Truck.

Conclusions:

I. Some Car is Truck.

II. All Bus being Car is a 

possibility.

कर्न: 

केिल कुछ बस कार ह.ै 

कुछ कार टे्रन ह.ै 

कुछ टे्रन ट्रक ह.ै 

क्तनष्कषा: 

I. कुछ कार ट्रक ह।ै 

II. सिी बस के कार होने की संिािना ह।ै



Statements:

Only a few Bus is Car.

Some Car is Train.

Some Train is Truck.

Conclusions:

I. Some Car is Truck.

II. All Bus being Car is a 

possibility.



Eight members of a family are living in a house, in which two are married 

couples. N is the father of D. E is married to N. G and D are siblings. C is 

married to G. N has no son. K is the father of E. Q is the only son of C. A is 

the brother-in-law of N. 

Who among the following is the son-in-law of N?

एक घर में एक पररिार के आठ सदस्य रह रह ेहैं, क्तजसमें दो क्तििाक्तहत जोडे हैं। N, D का क्तपता ह।ै 

E का क्तििाह N से हुआ ह।ै G और D िाई-बहन हैं। C, G से क्तििाक्तहत ह।ै N का कोई पतु्र नहीं 

ह।ै K, E का क्तपता ह।ै Q, C का इकलौता पतु्र ह।ै A, N का ब्रदर-इन-लॉ ह।ै 

क्तनम्नक्तलक्तखत में से कौन N का दामाद ह?ै

1.K 2.C 3.Q 4.G  5.None of these



Eight members of a family are living in a house, in which two are married 

couples. N is the father of D. E is married to N. G and D are siblings. C is 

married to G. N has no son. K is the father of E. Q is the only son of C. A is 

the brother-in-law of N. 

Who among the following is the son-in-law of N?

1.K 2.C 3.Q 4.G  5.None of these



Sita starts her journey from point ‘Z’ and 

walks 10km east to reach point ‘Y’ then 

she turns to her left and walks 3km to 

reach point ‘R’ and then she turns to her 

left again and walks 12km to reach point 

‘S’. Again, she turns to her left and walks 

3km to reach point ‘E’

Point E is in which direction with respect 

to the point R?

1.North west 2.North east

3.North 4.South east 

5. South west

सीता क्तबंद ु'Z' से अपनी यात्रा शरुू करती ह ैऔर क्तबंदु

'Y' पर पहुचंने के क्तलए पिूा की ओर 10 क्तकमी चलती 

ह,ै क्तिर िह अपनी बाई ंओर मडुती है और क्तबंद ु'R' 

पर पहुचंने के क्तलए 3 क्तकमी चलती है और क्तिर िह 

क्तिर से बाई ंओर मडुती ह ैऔर क्तबंद ु'S' पर पहुचंने के 

क्तलए 12 क्तकमी चलती ह।ै '। क्तिर से, िह अपनी बाई ं

ओर मडुती ह ैऔर क्तबंद ु'E' पर पहुुँचने के क्तलए 3 

क्तकमी चलती ह।ै

क्तबंद ुE, क्तबंद ुR के सन्दिा में क्तकस क्तदशा में ह?ै 

1.उत्तर पक्तिम 2. उत्तर पिूा 

3.उत्तर 4.दक्तक्षर् पिूा 

5. दक्तक्षर् पक्तिम



Sita starts her journey from point ‘Z’ and 

walks 10km east to reach point ‘Y’ then 

she turns to her left and walks 3km to 

reach point ‘R’ and then she turns to her 

left again and walks 12km to reach point 

‘S’. Again, she turns to her left and walks 

3km to reach point ‘E’

Point E is in which direction with respect 

to the point R?

1.North west 2.North east

3.North 4.South east 

5. South west



Nine boxes A, B, C, D, E, F, G, H, and I are 

kept one above the other not necessarily in the 

same order. Three boxes are kept between A and 

B. Equal number of boxes are kept above and 

below A. Number of boxes kept above B is 

same as the number of boxes kept below C. 

Only two boxes are kept between C and I. One 

box is kept between A and G, which is not kept 

immediate above I. No box is kept between F 

and D, which is not kept above F. E is placed 

below H, which is kept immediate below D. 

How many boxes are kept between F and A?

1.Two 2.One 3.Three

4.More than three 5.None

नौ क्तिब्बे A, B, C, D, E, F, G, H, और I को एक 

के ऊपर एक रखा गया ह,ै जरूरी नहीं क्तक इसी क्रम में 

हो। A और B के बीच तीन बॉक्स रखे गए हैं। समान 

संख्या में बॉक्स A के ऊपर और नीचे रखे गए हैं। B 

के ऊपर रखे गए बॉक्स की संख्या C के नीचे रखे गए 

बॉक्स की संख्या के समान ह।ै C और I के बीच 

केिल दो बॉक्स रखे गए हैं। एक बॉक्स A और G के 

बीच रखा गया ह,ै जो I के ठीक ऊपर नहीं रखा गया 

ह।ै F और D के बीच कोई बॉक्स नहीं रखा गया ह,ै 

जो F के ऊपर नहीं रखा गया ह।ै E को H के नीचे 

रखा गया ह,ै क्तजसे D के ठीक नीचे रखा गया ह।ै 

F और A के मध्य क्तकतने क्तिब्बे रखे गए हैं? 

1.दो 2.एक 3.तीन 4.तीन से अक्तिक

5.कोई नह ीं



Nine boxes A, B, C, D, E, F, G, H, and I are 

kept one above the other not necessarily in the 

same order. Three boxes are kept between A and 

B. Equal number of boxes are kept above and 

below A. Number of boxes kept above B is 

same as the number of boxes kept below C. 

Only two boxes are kept between C and I. One 

box is kept between A and G, which is not kept 

immediate above I. No box is kept between F 

and D, which is not kept above F. E is placed 

below H, which is kept immediate below D. 

How many boxes are kept between F and A?

1.Two 2.One 3.Three

4.More than three 5.None



Seven persons A, C, P, L, J, K, F are sitting 

around a circular table but not necessarily in the 

same order. Only two of them are facing inside. 

Three persons are sitting between F and P when 

counted from the right of F. L is sitting second 

to the left of K who is facing inside. L is not an 

immediate neighbor of A or F. Both the 

immediate neighbors of K are facing in opposite 

direction as that of K. A is sitting to the 

immediate left of F and facing outside. J is an 

immediate neighbor of neither F nor P. L is 

sitting to the immediate left of P. L and P facing 

the same direction .

Who is sitting to the immediate right of J?

1.C 2.F 3.L 4.A 5.P

सात व्यक्ति A, C, P, L, J, K, F एक िरत्ताकार मेज 

के चारों ओर बैठे हैं लेक्तकन आिश्यक नहीं इसी क्रम

में हों। उनमें से केिल दो का मखु अंदर की ओर ह।ै F 

के दायें से क्तगनने पर F और P के बीच तीन व्यक्ति बैठे 

हैं। L, K के बायें से दसूरे स्र्ान पर बैठा ह,ै क्तजसका 

मखु अंदर की ओर ह।ै L, A या F का क्तनकटतम 

पडोसी नहीं ह।ै K के दोनों क्तनकटतम पडोक्तसयों का 

मखु K के क्तिपरीत क्तदशा में ह।ै A, F के ठीक बायें 

बैठा ह ैऔर बाहर की ओर उन्मखु ह।ै J न तो F और 

न ही P का क्तनकटतम पिोसी ह.ै L, P के ठीक बायें 

बैठा ह.ै L और P समान क्तदशा की ओर उन्मखु हैं।

J के ठीक दायें कौन बैठा ह?ै 

1.C 2.F 3.L 4.A 5.P



Seven persons A, C, P, L, J, K, F are sitting 

around a circular table but not necessarily in the 

same order. Only two of them are facing inside. 

Three persons are sitting between F and P when 

counted from the right of F. L is sitting second 

to the left of K who is facing inside. L is not an 

immediate neighbor of A or F. Both the 

immediate neighbors of K are facing in opposite 

direction as that of K. A is sitting to the 

immediate left of F and facing outside. J is an 

immediate neighbor of neither F nor P. L is 

sitting to the immediate left of P. L and P facing 

the same direction .

Who is sitting to the immediate right of J?

1.C 2.F 3.L 4.A 5.P



Six persons P, Q, R, S, T and U were born 

in three different months May, September 

and November, on two different dates- 9 

and 16 not necessarily in the same order. P 

was born after R but not on the same date 

as that of R. Number of persons born before 

S is equal to the number of persons born 

after T. Q and U were born in the same 

month. T was born in a month having even 

number of days. Two persons were born 

between R and T. 

छह व्यक्ति P, Q, R, S, T और U का जन्म तीन 

अलग-अलग महीनों मई, क्तसतंबर और निंबर में दो 

अलग-अलग क्ततक्तर्यों पर हुआ र्ा- 9 और 16 

जरूरी नहीं क्तक इसी क्रम में हों। P का जन्म R के 

बाद हुआ र्ा लेक्तकन R के समान तारीख को नहीं। 

S से पहले पैदा हुए व्यक्तियों की संख्या T के बाद 

पैदा हुए व्यक्तियों की संख्या के बराबर ह।ै Q और 

U एक ही महीने में पैदा हुए रे्। T का जन्म सम 

क्तदनों िाले महीने में हुआ र्ा। R और T के मध्य दो 

व्यक्तियों का जन्म हुआ। 



Six persons P, Q, R, S, T and U were born 

in three different months May, September 

and November, on two different dates- 9 

and 16 not necessarily in the same order. P 

was born after R but not on the same date 

as that of R. Number of persons born before 

S is equal to the number of persons born 

after T. Q and U were born in the same 

month. T was born in a month having even 

number of days. Two persons were born 

between R and T. 



Eight persons A, B, C, D, E, F, G and H were born in the month of December of 4 

different years i.e. 1956, 1957, 1958 and 1959 either on 14th or 23rd but not 

necessarily in the same order. E was born in the even numbered year but not the eldest 

among all. More than two persons were born between E and D. H was born just after 

D. There are as many persons born before H as same as born after B. G was born 

before F and after A and they all were born on the same date.

आठ व्यक्ति A, B, C, D, E, F, G और H का जन्म 4 अलग-अलग िषों यानी 1956, 1957, 1958 और 

1959 के क्तदसंबर महीने में या तो 14 या 23 तारीख को हुआ र्ा लेक्तकन जरूरी नहीं क्तक इसी क्रम में हो। E 

का जन्म सम संख्या िाले िषा में हुआ र्ा लेक्तकन िह सबसे बडा नहीं र्ा। E और D के बीच दो से अक्तिक 

व्यक्तियों का जन्म हुआ र्ा। H का जन्म D के ठीक बाद हुआ र्ा। H से पहले उतने ही व्यक्ति पैदा हुए रे् 

क्तजतने B के बाद पैदा हुए रे्। G का जन्म F से पहले और A के बाद हुआ र्ा और िे सिी एक ही तारीख 

को पैदा हुए रे्



Eight persons A, B, C, D, E, F, G and H were born in the month of December of 4 

different years i.e. 1956, 1957, 1958 and 1959 either on 14th or 23rd but not 

necessarily in the same order. E was born in the even numbered year but not the eldest 

among all. More than two persons were born between E and D. H was born just after 

D. There are as many persons born before H as same as born after B. G was born 

before F and after A and they all were born on the same date.




